3. gyakorlé feladatsor
Megoldasok

. A z szamnak a sikon a (—1,—1) pont felel meg. Abszolut értéke r1 = /2, iranyszoge
¢1 = 225°. Ezzel z; = v/2(cos 225 + isin 225°). Hasonléan, 29 = 3(cos 270° + isin 270°),
z3 = cos 180° + 7 sin 180°.
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L =TH24d, L4

a.) 8(cos 120° 4 isin 120°) = —4 + 4+/3i,

b.) 4(cos 150° + i sin 150°) = —2/3 + 2i,

c.) 512(cos 360° + i sin 360°) = 512,

d.) 4 db negyedik gydk van: 2(cos(ZF2AT) 4 jsin(HOF2AT) | = 0,1,2,3, azaz 2 =
2(cos 60° +isin 60°) = 1 + /3, 20 = 2(cos 150° + i sin 150°) = —+/3 + i, 23 = 2(cos 240° +
isin 240°) = —1 — V/3i, 24 = 2(cos 330° + isin 330°) = /3 — i.

. 2172 = -2+t



